O 7 LEH— 1

At | 2m s
WA | B

RN T A BE SRR JL A ST SR BB PR T 8 A R A I AR

648 (F14) M2 O~IZIEARFE TR

@ 7 @ 7
1

©) =t

@ % @ 7
fil 2

® * (FENEIo))

1345 M1~M5 (B248). 6e~8 (K145

il 1 15 Y
o 5

[l 3 4 nr

] 4 3

5 0. 001 [mA]
fil 6 T

7 -

il 8 A




0 7 LEEH— 2

e | 2
R | BB o
R T AR R L R B B BT R SR T
3 168 (%25)
(1) (2) (3) (4)
i
1 ® @ ® ®
(1) (2) (3) (4)

i
2 @ ® ©) @




0 7 LRI — 3

Fit | 2@
A | BE

A0TSR IR

14m (%258

FHIEE R BRI A




0 7 LEF— 4

wh | e KA
RN 7 A RIRT IR AN ST SR B B R SRR A R
27H M1, M2 28, W3 (%35
@ @ ©)
Lyay b EALEEh—
]
1 @ ®
n HHEF
(1) (2) (3) (4)
] o
9 RIS A F— | R FEELAF—F | AEEESAF—F
(LED) BRIAAZE a1 | (355 5 A )
Is e Ver
]
3 20 [uA] 3 [mA] 4 [V]




07®LEH—-5

LR

e KA

& It
A 5%

RN T A BE SRR JL A ST SR BB PR T 8 A R A I AR

2458 (£37)

@ @) ® @
B
1 13 5. 375 100011101 11D
® @)
(1)
4 7 -
2
(2) F = A-B+A-B ¥771% F = A-B+A-B
F7-%k. F = A®DB
? TR ADLRAT =R F2E FNETRAT =]




